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Symmetry	with	respect	to	the	x	axis

Which	relation	is	symmetric	with	respect	to	the	x	axis.	Determining	if	graphs	have	symmetry	with	respect	to	the	x-axis.	How	to	find	symmetry	with	respect	to	the	x-axis.	How	to	determine	symmetry	with	respect	to	the	x	axis.	How	to	test	for	symmetry	with	respect	to	the	x-axis.	Determine	symmetry	with	respect	to	the	x-axis	y-axis	and	the	origin.	Symmetry	with	respect	to	the	x	axis	y	axis	and	origin	calculator.
Symmetry	with	respect	to	the	x	axis	y	axis	and	origin.

There	are	three	types	of	graphical	symmetry	you	might	be	responsible	for:	X-axis,	Y-axis,	and	origin.	Knowing	the	properties	of	symmetry	can	help	you	draw	complex	graphs.	Symmetry	of	the	x-axis	if	an	equation	or	function	is	symmetrical	with	respect	to	the	x-axis.You	can	fold	the	paper	that	is	scratched	along	the	x-axis	and	the	halves	of	the	graph	will	line	up.	If	the	ordered	pair	(X,Y)	is	a	solution	to	the
equation	and	the	equation	is	symmetrical	to	the	X	axis,	then	(x,	-y)	will	also	be	a	solution.	Symmetry	Axis	Y	An	equation	or	function	that	is	symmetrical	with	respect	to	the	Y	axis	has	(x,	y)	and	(-x,	y)	as	solutions.	Similarly,	if	you	change	-x	for	X	in	the	original	equation,	the	result	should	be	the	original	equation	when	simplified.	Equations	or	symmetry	functions	of	origin	that	are	symmetrical	at	origin	have
ordered	pairs	(x,	y)	and	(-x,	y).	If	you	change	-x	for	X	and	-y	for	Y	in	the	original	equation	and	simplify,	if	you	get	the	original	equation,	it’s	symmetrical	with	respect	to	the	origin.	Foldable	graphic	symmetry	can	be	added	to	an	interactive	notebook	to	help	students	remember	key	concepts.	Be	sure	to	rotate	it	during	printing	or	copying.	To	continue	to	enjoy	our	site,	we	ask	you	to	confirm	your	identity	as	a
human	being.	Thank	you	so	much	for	your	cooperation.	A	\	(y	=	{x^	2}	–	6	{x^	4}	+	2	\)	Show	solution	First	check	the	symmetry	on	the	\	axis	(x	\).	This	means	we	have	to	replace	all	\’s	(y	\)	â	̈¢	s	with	â	̈	̈”\	(y	\).	This	is	pretty	easy	to	do	in	this	case	since	there	is	only	one	\	(y	\).	\	[-	y	=	{x^	2}	–	6	{x^	4}	+	2	\]	Now,	this	is	not	an	equivalent	equation	since	the	terms	on	the	right	are	identical	to	the	original
equation	and	the	term	on	the	left	is	the	opposite	sign.	So,	this	equation	has	no	symmetry	on	the	\	axis.	(x	\).	So,	let’s	check	the	symmetry	for	the	\	axis.	(y	\).	Here	we	do	not	replace	everything	\	(x	\)	Ã¢	â	¢	s	with	Ã¢	â	̈¬	“\	(x	\).	\	[\	begin	{align	*}	y	&	=	{\	\	left	({{x}	\	right)	^	2}	–	6	{\	left	({-	x}	\	right)	^	4}	+	2	\\	y	&	=	{x	^	2}	–	6	{x	^	4}	+	2	\	End	{align	*}	\]	After	simplifying,	we	got	the	exact	same
equation	which	means	the	two	are	equivalent.	So,	this	equation	has	symmetry	on	the	\	axis.	(Y	\).	Finally,	we	need	to	check	the	symmetry	on	the	origin.	Here	we	substitute	both	variables.	\	[\	begin	{align	*}	–	y	&	=	{\	\	left	({{x}	\	right)	^	2}	–	6	{\	left	({-	x}	\	right)	^	4}	+	2	\\	–	y	&	=	{X	^	2}	–	6	{X	^	4}	+	2	\	End	{Align	*}	\]	Then,	as	with	the	first	test,	the	left	side	is	different	from	the	original	equation	and
the	right	side	is	identical	to	the	original	equation.	So,	this	is	not	equivalent	to	the	original	equation	and	we	don’t	have	symmetry	about	the	origin.	B	\	(y	=	2	{x^	3}	–	{x^	5}	\)	Show	solution	We	don’t	go	into	much	detail	here.	First,	let’s	check	the	symmetry	on	the	\	axis.	(x	\).	\	[-	y	=	2	^	3}	-	{x	^	5}	\]	We	have	no	symmetry	here	since	the	only	side	is	identical	to	the	original	equation	and	the	other	is	not.	So,
we	do	not	have	symmetry	on	the	\	axis	(x	\).	Then	check	the	symmetry	on	the[Begin	{align	*}	y	&	=	2	{left	({{x}	right)	^	3}	-	{left	({-	x})	^	5}	y	&	=	-	2	{x	^	3}	+	{x	^	5}	end	{align	*}]	Remember	that	if	we	take	a	negative	for	a	strange	power,	the	minus	sign	can	come	out	in	front.	So	while	simplifying	the	left	side	to	be	identical	to	the	original	equation,	but	the	right	side	is	now	the	opposite	sign	from	the
original	equation	and	therefore	this	is	not	equivalent	to	the	original	equation	and	therefore	we	have	no	symmetry	for	the	axis	(y).	Finally,	we	check	the	symmetry	on	the	origin.	[Begin	{align	*}	-	y	&	=	2	{left	({{x})	^	3}	-	{left	({{x}	right)	^	5}	-	y	&	=	-	2	{x	^	3}	+	{x	^	5}	end	{align	*}]	Now,	this	time	you	note	that	all	signs	in	this	equation	are	exactly	the	opposite	form	of	the	original	equation.	This	means
that	it	is	equivalent	to	the	original	equation	since	everything	we	should	do	is	multiply	the	whole	for	Ã	¢	â,¬	Å	"-1Ã	¢	â,¬	to	return	to	the	original	equation.	Therefore,	in	this	case	we	have	symmetry	on	the	origin.	c	\	{y	^	4}	+	{x	^	3}	-	5x	=	0)	Show	first	solution,	check	the	symmetry	on	the	axis	(x).	[Begin	{align	*}	{left	({-	y})	^	4}	+	{x	^	3}	-	5x	&	=	0	{y	^	4}	+	{x	^	3}	-	5x	&	=	0	End	{Align	*}	This	is
identical	to	the	original	equation	and	therefore	we	have	symmetry	on	the	axis	(X).	Now,	it	controls	the	symmetry	on	the	axis	(y).	[Beegin	{align	*}	{y	^	4}	+	{left	({{right)	^	3}	-	5	left	({-	x})	&	=	0	{y	^	4}	-	{x	^	3}	+	5x	&	=	0	end	{align	*}	then,	some	terms	have	the	same	sign	as	the	original	equation	and	another	donÃ	¢	â,¬	â	"¢	t	of	symmetry	for	the	(y)	-ass.	Finally,	it	controls	the	symmetry	on	the	origin.
[begin	{align	*}	{left	({{y})	^	4}	+	{left	({-	x})	^	3}	-	5	left	({-	x}	right	)	&	=	0	{y	^	4}	-	{x	^	3}	+	5x	&	=	0	end	{align	*}]	Again,	this	is	not	the	same	as	the	original	equation	and	is	not	exactly	the	sign	Opposite	from	the	original	equation	and	therefore	is	not	symmetrical	on	the	origin.	D	(y	=	{x	^	3}	+	{x	^	2}	+	x	+	1)	Show	first	solution,	symmetry	on	(x)	-	axis.	[-	y	=	{x	^	3}	+	{x	^	2}	+	x	+	1]	It	seems
no	symmetry	on	(x)	-	axis	axis,	symmetry	on	the	axis	(y).	[Begin	{align	*}	y	&	=	{left	({-	x})	^	3}	+	{left	({-	x})	^	2}	+	left	({-	x}	Right)	+	1	y	&	=	-	{x	^	3}	+	{x	^	2}	-	x	+	1	end	{align	*}	then,	no	symmetry	even	here.	Finally,	symmetry	on	the	origin.	[begin	{align	*}	-	y	&	=	{left	({{x}	right)	^	3}	+	{left	({-	x})	^	2}	+	left	({-	x}	Right)	+	1	-	Y	&	=	-	{x	^	3}	+	{x	^	2}	-	x	+	1	end	{align	*}]	and	again,	no
symmetry	even	here.	This	function	has	no	symmetry	of	any	kind.	This	is	not	unusual	since	most	of	the	functions	have	no	symmetries.	and	({x	^	2}	+
^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^^
2}	=	1	\)	Show	Solution	\	(x	\)	-	First	Axis	symmetry.	[\	begin	{allinea	*}	{x	^	2}	+	{\	left	({-	y}\	right)	^	2}	&	=	1	\\	{x	^	2}	+	{y	^	2}	&	=	1	\	End	{	Allinea	*}	\]	Then	it	is	obtained	symmetry	on	the	symmetry	\	(x	\)	-	axis.	Then,	check	the	\	(y	\)	-	Axis	symmetry.	[\	begin	{align	*}	{\left	({-	x}\	right)	^	2}	+	{y	^	2}	&	=	1	\\	{x	^	2}	+	{y	^	2}	&	=	1	\	End	{	Allinea	*}\}	\]	Seems	also	\	(Y	\)	-	Axis	AssesFinally,
symmetry	with	respect	to	origin.	[\begin{align*}{\left	({-x}	\right)	^2}	+	{\left	({-	y}	\right)	^2}	&=	1\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	So,	it	also	has	symmetry	about	the	origin.	Note	that	this	is	a	circle	centered	at	the	origin	and	as	we	noticed	when	we	started	talking	about	symmetry	has	all	three
symmetries.	Maplesoft’,	a	subsidiary	of	Cybernet	Systems	Co.	Ltd.	in	Japan,	is	the	leading	supplier	of	high-performance	software	tools	for	engineering,	science	and	mathematics.	Its	product	suite	reflects	the	philosophy	that	with	great	tools,	people	can	do	great	things.	Learn	more	about	Maplesoft.	So	first	they	want	us	to	try	that	if	a	graph	is	symmetric	with	the	X-Y	axis,	there	must	be	symmetrical	with
respect	to	the	origin.	So	let's	write	what	these	things	mean.	So	symmetric	with	the	X	axis	would	mean	that	if	we	had	the	x	y	point,	then	it	should	have	the	x	minus	y	point	on	it.	A	symmetry	with	Y	access	means	that	if	x	y	stands	on	it,	then,	uh,	x	y	negative	is	there	because	we	are	just	flipping	the	point.	So,	actually,	maybe	I	should	take	this	here.	It’s	like,	this	is	our	x	y	point	So	x	y	so	symmetrical	along	the	x
axis	would	flip	it	over	here	so	they	will	give	us	X	less	y.	And	then,	if	we	turn	the	access	to	Y,	it	will	be	around	here.	And	this	will	be	negative.	X	Why?	All	right,	now	for	the	origin	then	symmetric	origin.	So	we	take	that	x	y	point,	and	we	flip	it	straight	so	that	we	end	here	with	less	x	minus	y,	which	gives	us	so	that	says	x	y	goes	to	less	x	less	life	like	this,	right?	So	if	we	had	to	think	about	it,	if	we	started	with
these	two	things	that	both	seem	real,	then	that	would	imply.	So,	actually,	let's	start	from	the	point.	So	let's	start	this	demonstration.	So	we	suppose	symmetrical	about	access	ex	and	why	access?	So	this	tells	us	that	if	x	y	on	the	chart	the	access	cemetery	ex	says	that	then	we	see	the	Axis	X	says	that	Xnegative	stands	there.	Xnegative,	because	on	the	chart	now	we	can	apply	the	symmetry	of	the	y	axis	to	this
point	we	just	found	and	this	will	give	us	negative	x	negative	way.	So	now	it	applies.	Why	access	symmetry?	As	I	remember	everything	that	does	for	the	symmetry	of	the	y	axis,	it	takes	the	X	value	and	makes	it	negative.	So	now	apply	the	symmetry	of	the	y	axis.	We	get	negative	x	negative.	Actually,	maybe	I	should.	But	this	one	here	in	red,	just	to	show	it's	what	we	changed.	X	negative	And	then	I'll	do	the	same
here.	Negative.	Why?	And	now	this	has	passed,	so	now	this	one.	So	negative	x	negative.	Why?	Because	on	the	chart	so	it	is	symmetric	about	the	origin.	So	we	could	come	here,	but	our	little	Fox	and	Smiley	test,	because	we're	glad	we're	done	with	the	evidence.	All	right,	let's	finish	the	test,	and	then	they	tell	us,	actually,	let	me	pull	down	a	little	bit	and	then	everything	just	lay	down	a	little	and	then	move	this
and	put	it	here.	Just	for	meMake	sure	it's	all	under	A.	All	right	then,	after	which,	they	said	to	give	aWhere	the	inverse	is	also	the	reverse	of	this	statement.	Zoomed	a	little.	So	our	conversation	will	be	the	statement	so	symmetrical	on	the	origin.	So	if	symmetrical	on	the	source	that	symmetrical	on	X	and	because	the	access,	right?	So	a	counter	example	to	this	will	be	quite	controversial.	I	don't	think	this	in
green,	actually	so	counter	example	is	because	it	is	the	same	as	Exec	because	it	knows	that	it	will	be	symmetrical	with	respect	to	the	origin.	Because	if	you	call	it	as	ffx	that	f	of	-x	will	be	so	negative,	x	to	the	cube,	which	gives	us	negative	running	and	this	is	only	negative.	FX,	which	tells	us	that	it	is	going	to	have	so	we	have	X	Y	and	then	negative	X	negative.	Why?	But	we	don't	have	where	this	is	symmetrical
on	both	our	axes	because	this	is	part	of	being	symmetrical	on	the	y	axis	but	falls,	because	access	the	symmetry	since,	um,	see	if	we	insert	the	negative,	we	always	get	only	negative	times	.	Whatever	the	answer,	instead	of	obtaining	the	same	value.	Because	what	we	would	need	is,	for	example,	if	you	looked	f	(one,	well,	this	gives	us	a	cube	equal	to	Toe	one.	But	starting	from	-1,	this	uses	-1	cube	equal	to	-1,
which,	Regardless	of	how	we	look	at	it,	it	is	not	4	symmetrical.	Because,	since	we	would	like	the	values	​​of	the	"because	they	were	the	same?	That's	why	this	will	be	our	counterexample	for	the	next	part.	Yes,	they	want	We	try	that	a	symmetrical	graphic	with	an	axis	and	the	origin	must	be	symmetrical	with	respect	to	the	other	access.	Then	weaken	practically	divide	it	into	two	parts.	So	the	tests.	So,	first,	we
assume	access	X	and	Lâ.	♥	okay,	so	if	we	have	point	x	y	so	you	won't	write	it	in	verbious	terms	as	I	did	here,	but	simply	I	will	apply	what	we	did.	So	if	we	do	the	symmetry	of	access	x,	remember,	this	tells	us	that	we	will	have	the	Point	X	less.	What	is	it?	Perfect.	And	then	if	we	make	the	symmetry	of	origin,	then	this	Mr.	Nice	that	we	should	have	the	negative	of	X.	So	it	would	be	negative	X	and	then	negative
why	so	it	would	be	positive.	Why?	And	this	is	symmetry	here	why	the	access?	So	the	first	is	good?	Already	.	I	don't	know	why	I	did	it.	And	now	our	second	case.	So	now	suppose	why?	Symmetry	of	access	and	origin.	Well,	I	should	say	Quassã	symmetry.	So	again,	we'll	start	with	our	point	x	y.	So	if	we	apply,	why	access	the	symmetry	at	this	point?	Remember,	this	means	that	we	will	negative	of	X	and	Y	remains
the	same.	Now	we	can	apply	the	origin.	I	don't	know	why	I	don't	want	to	properly	smear	the	origin.	Symmetry.	So	both	become	negative.	So	x	will	become	positive	x	and	then	why	you	will	become	less	y.	And	this	is	the	symmetry	for	X	access.	So,	since	we	tried	both	things,	let's	go	ahead	and	put	our	trial	box	and	a	smiling	face,	and	this	will	be	for	the	last	one.
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